


THOUGHT OF THE DAY



STUDENT’S CORNER



WORD OF THE DAY

EXPATRIATE

(NOUN): (प्रवासी): emigrant

Synonyms: non-native, émigré

Antonyms: native, national

Example Sentence:

American expatriates now live in

London.



WORD OF THE DAY IMAGE



Directions (Qs. 1-4): In the following question, a
sentence is given, divided into 5 parts. Part (A) is
grammatically correct. Out of the other four parts,
only one part is without error. Mark the option
containing the part with no error. If none of the parts
have errors, mark ‘No error’ as your answer.



1. Although the Sikhs are a (A)/ regional community in

India, but by (B)/ availing of modern opportunities (C)/

they have extended their enterprises (D)/ all over the

country.

a) B

b) D

c) E

d) C

e) No error

Ans: (a) Solution: In B, remove BUT, as the sentence

has already used the conjunction ALTHOUGH



2. Every community has the (A)/ responsibility of

educating its (B)/ next generation, for education is (C)/

the master-key which will (D)/ opened all closed doors.

(E)

a) B

b) C

c) D

d) E

e) No errorAns: (d)

Solution: In E, replace OPENED with OPEN as the

modal verb WILL will take the base form of the

main verb. Thus, (d) is the right answer.



3. As the telegraph triggered the (A)/ development of

newly technologies, communication (B)/ became

progressively footloose, (C)/ liberated from the

constraints (D)/ of space and time. (E)

a) C

b) B

c) D

d) E

e) No error

Ans: (b) Solution: In B, replace NEWLY

with NEW, as the former is an adverb and

the latter is an adjective. We need an

adjective here to modify the noun

TECHNOLOGIES. Thus, (b) is the right

answer.



4. Many American politicians (A)/ have been

blaming the (B)/ continuous lose of American jobs

(C)/ on globalisation aided (D)/ by digital

technology.

a) D

b) E

c) B

d) C

e) No error

Ans: (d) Solution: In C, replace LOSE

with LOSS, as the former is a verb and

the latter is a noun. We need a noun here

to be modified by the adjective

CONTINUOUS. Thus, (d) is the right

answer.



PHRASE REPLACEMENT



5. People discovered the alternate sources of

energy when fossil fuel reserves starts to

deplete.

(1) Start to deplete

(2) Starting to deplete

(3) Started to deplete

(4) Start with deplete

(5) No correction required

(3) Started to deplete



6. The researchers found that children with

lung disease are at increase risk for

developing a second type of pneumonia.

(1) were at increased risk

(2) is increasingly risking

(3) is increased risky

(4) are increasingly risky

(5) No correction required

(1) were at increased risk



7. Alarm to declining marriage figures and

increasing divorce rates, the government

has come up with a novel way to tackle the

issue.

(1) Alarmingly on

(2) Alarming as

(3) Alarms with

(4) Alarmed by

(5) No correction required
(4) Alarmed by



8. Although complete treatment of cancer is

beyond the reach of the underprivileged but

no child should lose his life for want of

funds.

(1) Though

(2) As

(3) The

(4) Since

(5) No correction required
(5) No correction required



9. A lot of time we hear from actors that they

regret the kind of roles they have been

doing all this while, but this actor says he

has never any regrets.

(1) never has have

(2) have never had

(3) has no

(4) has had

(5) No correction required (3) has no



FILL IN THE BLANKS



10. Canada does not require that US citizens obtain

passports to enter the country and ________

A. Mexico does neither

B. Mexico doesn’t either

C. neither Mexico does

D. either does Mexico

E. None of these

B. Mexico doesn’t either



11. The airline was unable to give us a reason

for the ______________ departure delay.

A. indivisible

B. invincible

C. invisible

D. inexplicable

E. None of these

D. inexplicable



12. The chairman as well as the members

________ to blame for this misfortune.

A. are

B. were

C. is

D. Has

E. None of these

C. is



13. The company refunded the customer's money

in _______________ with the laws.

A. according

B. accordingly

C. accordance

D. Accord

E. None of these

C. accordance



14. The Centre would finalize a new set of

regulations to _____ the misuse of internet.

A. Check

B. Correction

C. Change

D. Result

E. Moved

A. Check



WORD ARRANGEMENT

In each of the following sentences, there are four
words (A), (B), (C) and (D) highlighted in bold. The
words may or may not be at correct positions. Select
the option that gives the correct set of words as a
replacement to these words. In case the sentence is
correct, select ‘No improvement required’.



15. A seller platform (A) the actual name and

address of a real e-commerce acquires (B)

and creates a user (C) account for them on

the fake (D) they’re selling on.

A. ACDB

B. BCDA

C. CBDA

D. DBCA

E. None of the above

Correct option : b



16. Beyond the benefit of enough (A) reviews,

simply having favourable (B) sales is often

rankings (C) to raise a product in the additional

(D) of some ecommerce sites

A. ADBC

B. BDAC

C. CDAB

D. DCAB

E. None of the above

Correct option : b



HOME WORK ANSWER






